
T 

1. A box contains 12 red balls and 10 green 

balls. How many balls are there 

altogether? 
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Deepu has 64 red colour balloons and 27 

blue colour balloons. How many balloons 

does he have? 
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TO 3. Vicky has 72 flowers. Jyoti gave him 
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18 more flowers. How many flowers does 

Vicky have now? 

4. There are 40 birds on a tree and 21 birds 
on another tree. How many birds are 

there in all? 
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TO There are 17 apples in a basket and 
86 apples in another basket. How many 
apples are there altogether? 
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Ashu has 53 toffees. Ritu has 22 toffees. 6. 
How many toffees do they have 
altogether ? 

T There are 18 books in a book shelf and 7. 
13 books in another book shelf. How 
many books are there altogether in both 

the shelves? 
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